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APPENDIX E


DISTRIBUTION OF MIXED MAIL COSTS


TO DIRECT MAIL ACTIVITY CODES 

Mixed mail costs are distributed to direct mail activity codes by basic function within route type for city carriers.

Basic Functions:  Outgoing, Incoming, Transit
For these basic functions, the mixed mail code costs are distributed to direct mail activity codes using the following procedures:


1.
The set of direct mail activity codes related to each mixed mail code being distributed is identified in Table E-2.


2.
The costs for the direct mail activity codes within each set are summed by route type within each basic function to obtain a total direct mail activity code cost for each set.


3.
For each set, the cost for each direct mail activity code is divided by the total direct mail activity code cost to obtain a ratio for each direct mail activity code cost in the set to the total cost for the set.


4.
The mixed mail code cost related to each set is multiplied by each ratio for the set to determine the distribution of the mixed mail code cost for the set to each of the direct mail activity codes.

The procedure is illustrated by the example given in Table E-1, which assumes the following conditions:


(  The route type is 87 – Collection (foot and motorized).


(  The basic function is outgoing.


(  The mixed mail code is 5300.

TABLE E-1


AN EXAMPLE OF THE DISTRIBUTION OF MIXED MAIL CODE COSTS


TO DIRECT MAIL CODE COSTS



Direct

Distribution


Activity
Mail Code
Direct Mail Code
of Mixed Mail


  Code  
(dollars)

Distribution Ratio

Code (dollars)


1060
A(1060)
A(1060)/A(t)=C(1060)
C(1060)*(Y)=Y(1060)


1080  
A(1080)
A(1080)/A(t)=C(1080)
C(1080)*(Y)=Y(1080)


1085
A(1085)
A(1085)/A(t)=C(1085)
C(1085)*(Y)=Y(1085)



_______                 __________________              _________________



  A(t)            
      1.000      
              Y

Basic Function:  Other
For this basic function, the procedure for distributing mixed mail code costs to direct mail activity code costs is the same as for the basic functions outgoing, incoming, and transit, with one exception: for each set, the direct mail activity code costs used to develop each direct mail activity code cost ratio are the sum of the outgoing, incoming, transit, and other basic function costs of each direct mail activity code.  Using the previous example, the direct mail activity code costs that would be used to distribute the basic function ‑‑ Other Code 5300 dollars ‑‑ are the following:


1.
A(1060) = A(1060)(0) + A(1060)(I) + A(1060)(T) + A(1060) (0'), where:




A(1060)
is Direct Mail Activity Code dollars used to distribute the Mixed Mail basic function ‑‑ OTHER 5300 dollars




A(1060)(0)
is Direct Mail Activity Code dollars for the basic function ‑‑ OUTGOING




A(1060)(I)
is Direct Mail Activity Code dollars for the basic function ‑‑ INCOMING




A(1060)(T)
is Direct Mail Activity Code dollars for the basic function ‑‑ TRANSIT




A(1060)(0')
is Direct Mail Activity Code dollars for the basic function ‑‑ OTHER


2.
A(1080) = A(1080)(0) + A(1080)(I) + A(1080)(T) + A(1080)(0'), where:




A(1080)
is Direct Mail Activity Code dollars used to distribute the Mixed Mail basic function ‑‑ OTHER 5300 dollars




A(1080)(0)
is Direct Mail Activity Code dollars for the basic function ‑‑ OUTGOING




A(1080)(I)
is Direct Mail Activity Code dollars for the basic function ‑‑ INCOMING




A(1080)(T)
is Direct Mail Activity Code dollars for the basic function ‑‑ TRANSIT




A(1080)(0')
is Direct Mail Activity Code dollars for the basic function ‑‑ OTHER


3.
A(1085) = A(1085)(0) + A(1085)(I) + A(1085)(T) +A(1085)(0'), where:




A(1085)
is Direct Mail Activity Code dollars used to distribute the Mixed Mail basic function ‑‑ OTHER 5300 dollars




A(1085)(0)
is Direct Mail Activity Code dollars for the basic function ‑‑ OUTGOING




A(1085)(I)
is Direct Mail Activity Code dollars for the basic function ‑‑ INCOMING




A(1085)(T)
is Direct Mail Activity Code dollars for the basic function ‑‑ TRANSIT




A(1085)(0')
is Direct Mail Activity Code dollars for the basic function ‑‑ OTHER

Table E-2 displays direct mail codes grouped by mail shape and by corresponding specific mixed mail codes (also by class and shape) used in the mixed mail distribution process.

TABLE E-2

DIRECT MAIL CODES RELATED TO MIXED MAIL CODES


Mixed


Mail
                    ​​                            Related Codes for Specific Types of Mail                           

Codes
Letter-Size
Flats

IPPs
Parcels

5300
1020‑1086
2060‑2086
3060‑3080
4060‑4080


5340
1310‑1360
2310‑2360
3310‑3360
4310‑4360


5460
1780
2780
3780
4780


5610
1020‑1160



1211-1510



1780



1910-1950


5620

2060-2160




2211-2510




2780




2910-2950


5650
1020‑1160
2060‑2160



1211-1510
2211-2510



1780
2780



1910-1950
2910-2950


5700



3060‑3160
4060‑4160





3211-3510
4211-4510





3780
4780





3910-3950
4910-4950


5750
1020‑1160
2060‑2160
3060‑3160
4060‑4160



1211-1510
2211-2510
3211-3510
4211-4510



1780
2780
3780
4780



1910-1950
2910-2950
3910-3950
4910-4950










�  Total Direct Mail Activity Code Costs (because this is an example, all the related direct codes are not included).  A(t)=A(1060)+A(1080)+A(1085), where:





	A(1060)	is Direct Mail Activity Code 1060 cost for	the Basic Function � OUTGOING





A(1080)	is Direct Mail Activity Code 1080 cost for the Basic Function � OUTGOING





	A(1085)	is Direct Mail Activity Code 1085 cost for	the Basic Function � OUTGOING





	A(t)	is the sum of the above Direct Mail Activity Code Costs.








�  Direct Mail Code Distribution Ratio.  1.000=C(1060)+C(1080)+C(1085), where:





	C(1060)	is ratio of Direct Mail Activity Code 1060	cost divided by Total Direct Mail Code Cost





	C(1080)	is ratio of Direct Mail Activity Code 1080 cost divided by Total Direct Mail Code Cost





	C(1085)	is ratio of Direct Mail Activity Code 1085	cost divided by Total Direct Mail Cost.








�  Total Mixed Mail Code 5300 dollars to be distributed. Y=Y(1060)+Y(1080)+Y(1085), where:





	Y(1060)   is Mixed Mail Code 5300 dollars distributed to Direct Mail Activity Code 1060





	Y(1080)   is Mixed Mail Code 5300 dollars distributed to Direct Mail Activity Code 1080





	Y(1085)   is Mixed Mail Code 5300 dollars distributed to Direct Mail Activity Code 1085





	Y  	is the sum of the above Mixed Mail Code 5300 cost.
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